Qs.

Ans

A current of 1.5 A is flowing through a triangle, of side 9
cm each. The magnetic field at the centroid of the triangle
is:

(Assume that the current is flowing in the clockwise
direction.) [Aug. 31,2021 (11)]
(@) 3= 107T, outside the plane of triangle.

(b) 243 * 107 T, outside the plane of triangle.

(c) 2,/3 * 10°*T. inside the plane of triangle.

(d) 3 = 10°T, inside the plane of triangle.

(d) A

B=3[I"ﬂ-{sinm°+sinﬁo°}]

al2
tan 60° = —
d

puta=9x 102 m
=d= 9x107% m
243
B=3x10°T.
B isinto the plane of triangle.




